13. I sent 10 candy bars by mail. Three melted. You walk over and randomly choose
four candy bars. What is the probability that all of your candy bars were NOT

melted? What is the probability that at least two of your candy bars wege NOT
melted?
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14. Think about the group of numbers that are 7 digits long. For example, the number
1,215,389 is a number that is 7 digits long. Now, think of the group of numbers that are
7 digits long but have no “1” anywhere in the number. An example here would be the
number 3,895,542. Does this latter group represent more than half of the former
group? That, do 7-digit numbers having no “1” in their decimal representation
constitute more than half of all 7-digit numbers?
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15. You are making a bag consisting of 20 pieces of candy to give to your cousin for
Halloween and you can choose from 8 different types of candy. Assuming that you must
give your cousin at least one of each type of candy, how many different bags can you
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16. A class is made up of 10 girls and 7 boys. In how many ways can we make a 4-person
debate team that has only boys? In how many ways can we make a 4-person debate

team that has 2 boys and 2 girls? In how many ways can we make a 4-person debate
team that has at least 1 girl? k < onMNaAT IS o der Luesne Wnwodter”
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